[20215F4A~11A FE])

< FTRAAEEE R - AR R >

Fik- 03 - B |r7e |iE B | SEE |,

- wn | ZEBELAERE gy a0 RIS 77T EHSEEE lup gt \Es 2o BEE lug
ﬁ %ﬁ% 15 23 0 3 7 28 1 20 2 7 8 3 23 5 0 145
% FEASLY 13 5 1 0 3 1 6 1 2 1 2 0 6 2 0 43

ZDfth 4 0 0 0 0 0 1 0 1 0 1 1 1 0 0 9

#Et 32 28 1 3 10 29 8 21 5 8 11 4 30 7 of 197

<EFBRE . HE>

St | HEd T | - 2 i E- = p— 1T . 4

o REALY 43
“fﬁ = 654 668 218 30 0 99 52 13 1 40| 166| 1941 ZDith 9
L TETST 146 92 10 23 0 40 4 0 2 0 90| 407 &% 197

ZDith 19 3 0 11 0 7 2 0 0 0 9 51

&t 819| 763| 228 64 0| 146 58 13 3 40| 265 2399

<HEBRRS> <FHMHE> =& 1796

HIEEERAA 171 Bk |FrE HE |&EF BEALY 364

B TXiE 387 TE HAFR 3K 4 18 0 22 Z Dt 42

BREXE 38 FRRS AR 15 11 2 28 &% 2202

Z Dt 167 it 19 29 2 50

it 763
BE |FrE (fE (At

<ZOHERS> = B 16 20 D) 38

2its - EEFIA 32 FEASLY 2 7 0 9

TEERRE 0 Z D 1 2 0 3

- ME 0 & &t 19 29 2 50

— AR MRE 84

Z&IZDOT 6

EE—RR 118

Z Dt 25

it 265

FHAHT—2

10 15 20 25 30 35
AA
RAEIA
T
BEAN R EK
fBALSE XA
#H1%

=R

EFREH

Z 01t 9

ALY,
43

Z D, 42

ALY,
364



